
  
 

 

 

 

 

 

 

 

SURFOX MINI 
Spare parts list 



 



WALTER SURFOX MINI 
Spare parts list – R00 - 06/2024 

3 

 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
48R653 

 

 
48R278 

 

 
48R727 

 
 
 
 
 
 
 
 
 
 
 

 

NG Code WT Code Description 

 
CLX002208W 

 
48R278 

 
32A POWER OUTLET (BLACK) 

 
CLX003068W 

 
48R400 

MACHINE FIXED FEET 

 
CLX501461W 

 
48R653 

PVC BUSH 

 
CLX800352W 

 
48R727 

BLACK SOCKET x SURFOX MINI (Screw TE M8x16 + spacer) 

 
CLX800446W 

 
48R728 

SURFOX MINI COVER (with ground point) 

 
CLX800447W 

 
48R729 

FRONT PANEL WITH LABEL - SURFOX MINI (USA/CAN) 

 
CLX800448W 

 
48R730 

FRONT PANEL WITH LABEL - SURFOX MINI (BRA) 

 
CMM301027W 

 
48R655 

RED GROUND CONNECTOR 

 
CS0500026W 

 
48R707 

SURFOX MINI/MAX HANDLE 

48R707 

48R728 

48R729 
48R730 

48R655 

48R400 



WALTER SURFOX MINI 
Spare parts list – R00 - 06/2024 

4 

 

 

 
 
 
 

 
48R728 

48R707 
48S153 

48K623 

 48K624 

 
 

 

 
48R731 

48R105 

 
 
 

 
48R106 

 
 
 
 
 
 

 

48S188 
 

 
48Z206 
48R662 

 

 

WT Code Description 

 
48R105 

MAIN POWER SWITCH 

 
48R106 

STRAIN RELIEF CONNECTOR 

 
48R662 

SUPPLY CABLE (230V) – S206 BRASIL 

 
48Z206 

SUPPLY CABLE (USA-J-CA 100 – 120 Volt) 

 
48K623 

NOTCHED WASHER D.8x16 mm 

 
48K624 

STAINLESS STEEL NUT M8 

 
48S188 

BURNISHED SCREW TSEI M5x16 

 
48R731 

ORANGE SIDE FRAME (SURFOX MINI) 

 
48R728 

SURFOX MINI COVER (with ground point) 

 
48S153 

STAINLESS STEEL SCREW TCEI M8x30 

 
48R707 

SURFOX MINI/MAX HANDLE 



WALTER SURFOX MINI 
Spare parts list – R00 - 06/2024 

5 

 

 

 

 
48R709 

 
48R710 

 
 
 

 
48R667 

 
 
 
 
 
 
 
 
 
 

 
48R711 

 
 
 
 
 
 
 
 

 

WT Code Description 

 
48R709 

STAINLESS STEEL REAR FILTER (70x70 mm) 

 
48R710 

SURFOX MINI/MAX MAIN CHASSIS 

 
48R711 

STAINLESS STEEL BOTTOM FILTER (303x95 mm) 

 
48R667 

RUBBER RETAINER 



WALTER SURFOX MINI 
Spare parts list – R00 - 06/2024 

6 

 

 

48K625  

48K626 

 

 
 
 
 
 
 
 

 
48R680 

 
 
 

 
48R729 

48R730 48R712 

 
 
 
 
 
 
 
 
 
 
 

 
48R717 

 
 
 
 
 

 

NG Code WT Code Description 

 
CLX000197W 

 
48K625 

SELF-LOCKING NUT STAINLESS STEEL M3 

 
CLX002434W 

 
48K626 

STAINLESS STEEL WASHER D.3x6 mm 

 
CLX501479W 

 
48R717 

 
ELECTRICAL CONTACT (1 x Ø8,5 mm hole and 1 x Ø5 mm counterbore hole) 

 
CLX501539W 

 
48R712 

202 x 132 x 1,5 mm SEAL (SURFOX MINI/MAX) 

 
CLX800447W 

 
48R729 

FRONT PANEL WITH LABEL - SURFOX MINI (USA/CAN) 

 
CLX800448W 

 
48R730 

FRONT PANEL WITH LABEL - SURFOX MINI (BRA) 

 
CMM301112W 

 
48R680 

INVERTER / CONTROL PANEL CONNECTION CABLE 

 
CMM301269W 

 
48R735 

(SURFOX MINI) CONTROL PANEL BOARD WITH DISPLAY + CABLE 

48R735 



WALTER SURFOX MINI 
Spare parts list – R00 - 06/2024 

7 

 

 

48K625 

48K626 

48R288 
 

48K111 

48R214 

 
48K107 

48R687 

 
48K107 

48S179 

48K111     

48R288 

 
48R293 

48R683 

 
48K424 

 
 
 
 
 
 
 

 
 
 
 

 
48R732 

48R734 

 
 
 

 
48R688 

 
 

 
48R733 

 
 
 
 
 
 
 
 
 
 

 
48R718 



WALTER SURFOX MINI 
Spare parts list – R00 - 06/2024 

8 

 

 

 

 

WT Code Description 

 
48K625 

SELF-LOCKING NUT STAINLESS STEEL M3 

 
48K424 

NOTCHED WASHER D.4x8 mm 

 
48K107 

STAINLESS STEEL WASHER M4x8 mm 

48R288 
SELF-LOCKING NUT STAINLESS STEEL M5 

48R293 
FUSE 6,3A 230V - TYPE T - 5x20mm 

48R683 
STAINLESS STEEL SCREW TCEI M4x8 

48K111 
STAINLESS STEEL WASHER M5x10 mm 

 
48K626 

STAINLESS STEEL WASHER D.3x6 mm 

 
48R214 

STAINLESS STEEL SCREW TCEI M4x10 

48R733 
NG15 BRACKET 

48R734 
BULKHEAD FOR NG15 INVERTER 

48R719 
INVERTER NG10/NG15 STAND BASE 

 
48R732 

INVERTER NG15/30A 

48S179 
SCREW M5X8 WITH FLANGE 

 
48R687 

STAINLESS STEEL SCREW TBEI M4x6 

 
48R688 

CONNECTIONS PLASTIC COVER 



 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 


